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Q.P. Code : 730500
(3 Hours) Total Marks: - 80
N.B: (1) Question no 1 is compulsory.
(2) Attempt any three out of remaining five questions.
(3) Figures to e right indicate full marks.

(4) Illustrate yoar answers with sketches wherever necessary.

Q.1 Solve any four from following six. 4 20
a Explain the need of carrying out fuel injector diagnosis and service. & 05
b State the significance of drive shaft in automobile. d 3 05
¢ What is headrest and state its need in automobile. 4 ¥ 05
d Explain the need of employing vehicle tracking syster 05

e In some operating conditions battery d&schnm atlugh rate, state its causes and 05

effects
f At what point does the maximum wear, of c}'I‘mder bore occurs & why 7 05
Q.2 a Enumerate diagnosing and sen'tcl: proudmim starter system. 10

b A clock spring electrical Gonmtiml\ﬁ:r sign of damage w&scl}cckedb}'pmun 06
“A” while replacing the deployed i bag module. Person “B” back probes on air
bagsystemmmulhm:ﬁandﬂtmmealﬁtmmgoodwmkmgommmm

not? Justify your anw ,
¢ What is double declu:tchmg -:I.lld how it can be avoided? 04
Q3 a Makea dmﬂednute pmcadﬂ:ne of tyre repair, 10
b Explain tbﬁ ﬁJﬂMumng of power lock system. 05

¢ List ﬂl‘#mu-.’ts mmponents in valve assembly and also trouble diagnosis of any 05
one cmzpuﬁm

Q4 a .When headhghz switch position changed from low beam to high beam all 06
__headiight goes out. Person “A” says that there is an issue with bad dimmer switch
| bt the person “B” says that ignition switch is defective. Which person is correct.
& :_._\f}ﬁ’t proper justification to your answer.
?b Make detailed note of seat belt service. 10

¢ Explain the need of carrying out trans axle service and diagnosis 04
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